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XM1n = 03
XMax = 23
nPoints = 10;

xMax - xMin |

xPoints = Table[xMin+ i, {i, 1, nPoints}];

nPoints
xMax - xMin

nPoints

Plot[f, {x, xMin, xMax}];

Table[{xPoints[[i]], f/. {x » xPoints[[i]]1}}, {1, 1, nPoints}] // ListPlot;
Show[%%, %]

"risultato approssimato"

Sum[Axf /. {x > xPoints[[i]]}, {1, 1, nPoints-1}] // N

"risultato esatto "

Integrate[x*2, {x, xMin, xMax}] // N

[102)= X2

N
T

110]=

05 1.0 15 2.0
[111]= risultato approssimato

112= 2.28

[1131= risultato esatto

114]= 2.66667
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